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December, 2018 0 

MEC-009 : RESEARCH METHODS IN 
ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note•: Attempt questions froin each section as per instructions 

given. 

SECTION - A 

Attempt any two questions from this section in 
about 700 words each : 	 2x20=40 

1. What are the various Governmental and 
Non-Governmental sources of data in the Indian 
statistical system ? What is the relevance of 
metadata ? 	 15+5=20 

2. Why Lorenz curve is a positive measure of 
inequality ? Explain its relationship with Gini 
coefficient. 	 10+10=20 

3. Identify the major steps in compilation of 20 
qualitative data. 

4. Popper and Kuhn differ fundamentally in their 20 
attitude towards transition from one theory to 
another theory in science. How ? 
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SECl'ION - B 

Attempt any five questions from this section in 
about 400 words each : 	 5x12=60 

	

5. 	What are the various costs incurred during 12 
Census or Sample Surveys ? 

	

6. 	Distinguish between any two of the following : 6+6=12 
(a) Linear and Reciprocal Regression Model 
(b) Science and Pseudo-science 
(c) Population and Economic Census 

(d) Qualitative and Quantitative Research 

	

7. 	How are theories the basic building blocks of 12 
scientific explanation ? 

8. How is Consumer Price Index useful in wage 12 
indexation ? 

	

9. 	What are the assumptions of Classical Linear 
Regression Model ? What are the consequences 
of violation of normality assumption ? 	8+4=12 

10. What is the meaning of 'Emic perspective' ? 12 
Elucidate with a suitable example. 

11. What is the basis for the choice between census 12 
or sample survey ? 
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